1. JALY JL—7 EREHEEE

(1) IREFAERFEHER
JAL
EI PR HR w® &
(AN) BIEL® | RPK(FA®) | BTELE®) | ASK(FEERE*) | #4Eke) | FIRZE®)
20114E /& 6,844,772 79.8] 30,313,789 79.7| 43,036,984 83.2 70.4
20124 & 7,525,038 109.9] 34,036,119 112.3] 44,745,317 104.0 76.1
201344 K 578,279 99.8 2,582,823 104.5 3,698,245 104.5 69.8
5H 587,529 97.1 2,700,281 100.8 3,799,832 103.4 71.1
6H 615,744 99.5 2,897,529 103.1 3,762,418 103.4 77.0
AR 1,781,552 98.8 8,180,633 102.8] 11,260,495 103.7 72.6
7H 665,919 103.7 3,053,941 106.3 3,942,425 104.7 77.5
8H
98
55270 4 HA &1 665,919 103.7 3,053,941 106.3 3,942,425 104.7 77.5
2013 E &t 2,447 471 100.1 11,234,574 103.7] 15,202,920 104.0 73.9

*F| FH3E=RPK - ASK



(2) ERF#R 2 75 A1l a0 X SR AR

2013%F7H BER A

R BIERELL%) | RPK(FA*a) | BIERELL%) | ASK(FEERE ) | BTEEL®%)| FAE%) | FAE%

NFEER 152,606 105.3 1,174,742 105.7 1,466,769 109.9 80.1 83.3

xR 65,127 112.5 598,188 109.4 739,204 101.5 80.9 75.1

JAL EmT7 7% 247,326 108.9 885,230 110.0 1,168,261 103.2 75.8 71.1
FE7 =T 10,262 99.5 80,366 100.4 121,474 99.9 66.2 65.9

57 Lot 12,993 92.4 33,121 91.3 41,956 91.6 78.9 79.1

g E R 70,171 91.9 80,569 94.5 106,251 90.1 75.8 72.3

b E 107,396 96.4 201,682 96.7 298,462 104.3 67.6 72.9

& &t 665,919 103.7 3,053,941 106.3 3,942,425 104.7 775 76.3




2. JALY )L—7 ERBEEE

(1) RS RIS

JALY JL—T (JAL+JTA+JEX+J-AIR+JAC+RAC)

E RN w® &
(AN) BTEL®) | RPK(F A | BTG | ASK(FEERE ) | BTEEG | FIBZE®)

20114EE| 28,965,514 86.9] 22,264,394 87.7| 35523214 86.5 62.7
201246 | 30,020,440 103.6]/ 23,012,898 103.4| 36,443,994 102.6 63.1
2013441 2,309,460 101.8 1,760,896 100.6 3,074,956 102.8 57.3
5A8 2,572,177 104.5 1,922,732 103.1 3,206,977 102.5 60.0
68 2,478,817 104.0 1,847,686 102.2 3,162,660 106.2 58.4
25170 3 HAET 7,360,454 103.5 5,531,316 102.0 9,444 592 103.8 58.6
18 2,573,440 101.0 1,958,816 100.3 3,291,001 101.7 59.5

8H

98
5200 HA 5t 2,573,440 101.0 1,958,816 100.3 3,291,001 101.7 59.5
20134 EET 9,933,894 102.8 7,490,132 101.5 12,735,593 103.3 58.8

*F| FHZE;=RPK -+ ASK



(2) ENRIRE 77 A BERE

2013 7H B4R A

_ _ TREH it | RetemEmEs | argke) | fimEe | nmsw
F H - # 195,879 104.7 298,140 98.6 65.7 61.9
F H - B [ 14,960 107.3 20,460 79.0 73.1 66.6
F H - % % 262,829 99.4 416,765 101.8 63.1 64.6
DB H - &&EGEEH) 4,025 - 9,114 - 44.2 -
H H - & fif] 215,834 99.6 373,289 101.6 57.8 59.0
F H - # ] 199,109 98.5 349,223 106.6 57.0 61.7
F H - & & 5l 25,781 101.8 48,498 100.4 53.2 52.4
F H - JB JI| 41,658 105.2 58,776 111.0 70.9 74.8
F H - g R 19,601 80.7 36,642 77.7 53.5 51.5
F H - &hbwlL 25,619 101.1 40,920 86.2 62.6 53.4
F H - K B 34,278 104.9 61,646 93.5 55.6 49.6
F H - & = 43,568 105.6 72,624 100.4 60.0 57.1
F H - = R 16,444 90.4 29,700 100.5 55.4 61.5
F H - # i} 21,425 102.6 40,920 100.1 52.4 51.1
F H - W 2 2,464 117.8 4,712 152.0 52.3 67.5
F H - /I [N 63,506 97.6 101,820 93.6 61.9 59.2
F H - miaE 8,580 107.5 14,834 102.8 57.8 55.3
H H - M L 29,700 101.1 51,108 100.1 58.1 57.5
F H - H = 48,391 119.7 65,528 104.7 73.8 64.6
bR H - Ik = 48,522 98.3 81,840 99.5 59.3 60.0
F H - O 21,496 119.6 40,920 99.9 52.5 43.9
F H - & B 48,995 101.5 83,930 99.8 58.4 57.3
F H - 5 [N 44,416 110.3 77,418 115.7 57.4 60.2
F H - 5 X0 28,932 102.6 51,108 99.7 56.6 55.0
F H - # L 38,162 103.8 70,151 114.2 54.4 59.9
F H - Jd A 25,122 118.7 50,982 127.8 49.3 53.1
¥+ H - X ya) 37,620 93.9 61,840 735 60.8 47.6
¥+ H - E I 40,488 111.4 72,884 120.9 55.6 60.3
bR H - B 7N 56,042 100.4 102,496 104.3 54.7 56.8
F H - = I 28,678 112.1 61,380 127.1 46.7 53.0
¥ H - BEREB 63,298 96.5 102,576 92.1 61.7 58.9
¥ H - EXXE 7,133 97.3 10,230 100.4 69.7 71.9
JALY W=7 ¥ H - = o 7,504 98.5 8,920 97.3 84.1 83.1
¥ H - & i 9,490 79.3 11,890 93.7 79.8 74.9
¥ H - A X8 3,126 94.6 5,510 98.0 56.7 45.6
53 H - # 19,335 93.8 25,044 90.0 77.2 74.1
53 H - # g 17,465 101.8 30,690 93.8 56.9 52.4
53 H - 25E0H) 18,747 108.5 35,964 93.8 52.1 45.1
53 H - & i 9,181 89.8 30,690 95.2 29.9 31.7
54 H - B E7] 5,894 109.2 9,645 100.0 61.1 55.9
# - %l [ 25,591 128.0 30,707 117.2 83.3 76.3
# - 18 i 15,301 292.8 38,341 494.0 39.9 67.3
F - BB i 31,679 119.2 43,301 115.4 73.2 70.8
# I - B £E 2,526 — 3,100 — 81.5 —
# 7 - F o 8,050 88.6 11,436 94.0 70.4 74.7
# 87 - = R 2,784 - 4712 — 59.1 —
# - i} 7,317 110.3 12,524 114.2 58.4 60.5
# - 1k % 10,799 100.8 18,848 134.3 57.3 76.3
# - W A 7,220 100.3 10,912 88.6 66.2 58.4
# £ - b = 21,396 101.4 43,462 154.6 49.2 75.1
# - o 8,639 107.6 16,484 118.4 52.4 57.6
F F - a9 /MEE 2,475 109.6 3,846 95.4 64.4 56.0
# - i 5] 10,871 112.3 17,882 99.8 60.8 54.0
# - B 53 3,182 98.5 4,588 91.2 69.4 64.2
# 7 - @ 1L 3,565 - 9,462 — 37.7 —
# g - X 4 4,469 119.0 10,712 169.9 41.7 59.6
# T - K I 8,781 1345 14,032 149.2 62.6 69.4
# 7 - B A 6,932 105.6 12,068 134.8 57.4 73.4
# - = 5 15,447 103.0 28,024 128.3 55.1 68.6




(2) ENRIRE 77 A BERE

2013474 BIER A

_ REH i) | RetEms | siene | sEEw | nms)
# ERE 19,223 91.9 31,672 99.3 60.7 65.6
# BEABE 2,930 102.8 4588 100.0 63.9 62.1
# TEEXEKXE 6,760 110.0 10,230 93.8 66.1 56.3
E3] 7 £l 5 28,432 89.7 48,306 81.4 58.9 53.4
E3] ] i 1 ] 16,894 59.7 27,200 56.9 62.1 59.1
B i A ] 6,901 88.9 8,935 97.6 77.2 78.7
L [ Z & Al 7,319 132.1 10,660 117.1 68.7 60.9
iR [ = = 7,820 91.6 11,310 97.2 69.1 734
L [ Fl 1] 5,257 63.7 9,306 85.3 56.5 75.7
L [ 1t & 9,525 107.0 13,962 1275 68.2 81.3
L [ il = 11,006 91.5 18,624 121.2 59.1 78.2
#l [ il o 3,527 150.2 6,250 162.3 56.4 61.0
iR [ N E 4673 63.3 10,230 97.4 45.7 70.3
2 75 B (ch &) L % 30,100 91.9 51,150 94.8 58.8 60.7
2 75 B (ch &) ETH i 25,796 98.7 36,150 100.3 714 72.5
K= [if] £l [ 17,455 98.5 33,320 101.5 52.4 54.0
K= fif] A8 ] 31,206 88.7 53,530 89.9 58.3 59.1
K= fif] 1t & 1,718 106.7 3,092 99.7 55.6 51.9
K= fif] il = 4,658 84.4 9,424 100.0 49.4 58.6
K= fif] H = 2,805 99.4 4428 100.0 63.3 63.7
K= fif] & = 2,551 114.0 4,392 98.4 58.1 50.1
K= fif] = 40 4,471 107.3 8,343 98.9 53.6 494
K= fif] [ 1 8,995 104.0 15,372 115.1 58.5 64.7
K= fif] = I 25,602 102.7 45,956 111.9 55.7 60.7
K= fif] BE RS 2,004 55.9 4,464 49.3 44.9 39.6
K= fif] BEABE 1,286 99.2 2,166 98.4 59.4 58.9
K= fif] S EPN- 3,042 121.4 4588 101.6 66.3 55.5
B E1] I [N 4,689 81.4 8,990 98.7 52.2 63.2

i 1 ] fif] 1 7,506 107.2 8,990 98.4 83.5 76.7
B E1] = El 48,774 85.4 71,985 95.4 67.8 75.7
JALY V=7’ AR ] A ] 52,652 96.9 82,510 85.6 63.8 56.4
B B3 &t X ® 885 97.6 1,209 96.9 73.2 72.7
B E1] PN 2,433 95.6 4,265 100.2 57.0 59.8
B E1] 5 i 3,030 107.5 4134 100.1 73.3 68.2
B E1] AXE 17,295 94.6 29,274 96.7 59.1 60.4
i 1 ] TEEXEXE 1,404 109.8 2418 110.5 58.1 58.4
B E1] 5 B F 1,119 170.1 2262 158.6 495 46.1
H £ 12 5 1,362 134.5 2,232 103.3 61.0 46.9
BE RS [ L 1,527 142.0 4,356 198.4 35.1 490
BE RS EF B 6,216 94.9 9,160 83.0 67.9 59.3
BE RS B A B 11,664 98.0 20,105 114.8 58.0 67.9
BE RS ERE 2,799 98.7 3,969 100.5 70.5 71.8
BE RS S E PN 21,552 101.9 34,348 110.8 62.7 68.2
BE RS 2 B 10,500 103.8 18,204 103.4 57.7 57.4
BERBE Pk B ER 5,556 97.3 11,082 102.7 50.1 52.9
BERBE 5 i 2,522 108.7 4279 101.8 58.9 55.2
TEKRE =ER B 3,517 109.3 6,624 995 53.1 48.3
TEEXEXE "z B 2,019 108.0 4,464 101.6 45.2 426
S EPN- HKEH 632 92.1 1,092 100.2 57.9 62.9
S E PN 5 B 540 110.4 1,010 100.2 53.5 485
Pk B AR 5 B 590 114.3 1,021 100.0 57.8 50.5
= = A = 2,930 64.5 4524 65.9 64.8 66.2
= = £Z B [ 2,682 91.0 4524 98.3 59.3 64.0
=l i 5 B F 4,641 91.3 6,864 64.8 67.6 48.0
d X = N 840 97.4 1,209 103.3 69.5 73.7
a =t 2,573,440 101.0] 4,310,044 102.3 59.7 60.3

) BEFHERXFY—5—&, 3—F 7 EEEHET,

TR E-TRE W~ R RN
*10) & FI| HE=RPK=ASK

*1



3. JALY IV —T BB Fif X EiE

(1) R EEHERE

JALY J)L—7 (JAL+JTA+JEX+J-AIR+JAC+RAC)

E R E R
Y HE Y BE

V] BITEE Lb (%) ko BIEELE(%) b BIT4E Lb(%) [ BITEE Lb (%)
20011 EEE 237,605 60.0 28,960 88.8 381,652 86.7 27,580 98.3
20125 % 248,121 104.4 26,814 92.6 386,249 101.2 26,955 97.7
201344R8 20,773 100.9 2,384 111.3 31,751 101.4 2,278 104.7
5H 20,917 105.5 2,438 116.4 31,461 102.1 2,380 111.0
6H 21,697 103.9 2,285 120.7 30,806 102.5 2,410 102.6
F1MFHAET 63,387 103.4 7,108 116.0 94,018 102.0 7,068 106.0
7H 22,675 107.8 2,254 115.6 36,171 101.0 2,227 109.1

8H

98
F2MM - HAET 22,675 107.8 2,254 115.6 36,171 101.0 2,227 109.1
20134 EE 86,062 104.5 9,362 115.9 130,189 101.7 9,295 106.7




4. JALY IV—7 1A EKR

-BREFEFHEFERZINSIGHLURICHRELGEN S -EARR

[ JAL

ERNEE | EE&E ] JAL
L REE | KEE &5t
PETREES 18,334]  4054] 22388
158 fi, 2= (%) 99 4 999 99 5
TERFH R E (%) 95.2 89.7 94.2
ERE 883 419] 1,302
FTAx(Z LBHED 40 13 53
A B (C L DD 47 43 90
At 4l [ K DED 625 87 712
Z Dt 171 276 447
R fE 107 3 110
FIEIZEHED 52 0 52
A S (C K DD 10 3 13
iAf 7l [ K DED 38 0 38
Z Dt 7 0 7
B 89t LIAr A~ D 75 BE(E 6 0 6
KEIZ£HED 6 0 6
HEM B E(C L BHED 0 0 0
Z D1t 0 0 0
FEADF|ZRLIE 12 2 14
K[ £HEHD 12 0 12
HEM B E(C L BHED 0 2 2
ZDith 0 0 0

JTA | RAC | JAC JALT JL—J&F

ERE | ERR | ERR | ERER EfRER JIL—7
L REE | KEE | kEE | keE | keE | swE | EEE | #E
PEREES 2315] 1.153] 4882] 26,684] 4054 o] 4054] 30,738
12 i 32 (%) 97.8 96.8 95.0 99 2 99.9 — 999 99.3
TERFH F 3 (%) 91.5 92.9 95.9 95.2 89.7 — 89.7 94.5
EFE 198 - 200] 1,281 419 0 419 1,700
KNI LBHED 3 - 10 53 13 0 13 66
M EE(C L5 D 8 - 11 66 43 0 43 109
uerreml) (£ A% D 135 - 146 906 87 0 87 993
ZDih 52 - 33 256 276 0 276 532
RAniE 53 - 47 207 3 0 3 210
KE|[ZXHED 44 - 17 113 0 0 0 113
M EE(C L 51D 3 - 5 18 3 0 3 21
uerreml) [ £ 5% D 6 - 23 67 0 0 0 67
ZDih 1 - 2 10 0 0 0 10
H B9 LISk~ D75 [EE 4 - 1 11 0 0 0 11
KNI LBHED 2 - 1 9 0 0 0 9
HEAM A E(C L BT 0D 0 . 0 0 0 0 0 0
ZDith 2 - 0 2 0 0 0 2
FEhADE|=IRLUIE 1 - 6 19 2 0 2 21
KlE[ZkHED 0 - 2 14 0 0 0 14
HEAM A E(C L BHE0 1 - 4 5 2 0 2 7
g2 0 - 0 0 0 0 0 0
-ERFHRERTEHNLE-EOS>BHREFTERZLVISHLRNICEHEL-EDOEE



